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{EFANANDEILUSEEIIN F="EARIBIEIZER :

NOT a < a NAND a

a AND b < (a NAND b) NAND (a NAND b)
a OR b < (aNAND a) NAND (b NAND b)

ELt, NANDZZIETEH.
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EHITRE, HEP A+ B+ CHREAE S, #uE C, BIESEINIRAYE.

A B C C
0 0 0 0
0 0 1 0
0 1 0 0
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1. A(A[1:0]) TLARTRRISRKES 3
2. B(B[1:0]) AT LAZRZAISRAESN 3
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A] A[0] B[1] B[O] Y[3] Y[2] Y[1] Y[0]

0 0 0 0 0 0 0 0
0 0 0 1 0 0 0 0
0 0 1 0 0 0 0 0
0 0 1 1 0 0 0 0
0 1 0 0 0 0 0 0
0 1 0 1 0 0 0 1
0 1 1 0 0 0 1 0
0 1 1 1 0 0 1 1
1 0 0 0 0 0 0 0
1 0 0 1 0 0 1 0
1 0 1 0 0 1 0 0
1 0 1 1 0 1 1 0
1 1 0 0 0 0 0 0
1 1 0 1 0 0 1 1
1 1 1 0 0 1 1 0
1 1 1 1 1 0 0 1

6. Y[2] = (A[1] AND (NOT A[0]) AND BI[1])
OR (A[1] AND A[0] AND B[1] AND (NOT BJ0]))

EitE188) Y[2] = A[1] AND B[1] AND (NOT (A[0] AND BJ[0]))
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1.

2. 6 states -> 3 bits -> 3 latches
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1,29
2.2 x b
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1. ATHAHUBAE—IMIE, Al1:e] NZH00, FEFATEAN wE /91



2. ATHSUREIRTTE k bit , WFESESMISFMERIIIRITN « i, MNUEEST
&N k-3 PN Ji=DiFRS.

3. F[RRESULZED257 MIEUERIPCEERE 992, AT EERFRIMELEN LUSPCRIRISUESE)
5%, WNHEERHS12MNEMNE, WA SIBINEIR. BFEza@thEMIS
RUbIER AR LR, HSHURENAZR.

A10

1.10g, (100 * 100 * 4 x 4 * 181 * 101%) ~ 78.05 , EPE/MEF 79 4 bit 17hi&

2.2 X [logy(100)]| + 2 x [logy(4)] + [logy(4)] + [log,(60)] + 8 x [log,(101)] =
82 4 bit B [log,(100%)] + [log,(4%)] + [log,(181)] + [log,(101%)] = 80 4" bit

3. SRR, SF—MI7iAERRIbiEELD, (BRSETHISIEEINETIEFII4ER,



